I

H {42025/03/23

108. ZF x-S 5S50m BEHF MMLARE BRENORIS & Y
NO [#f/3 £ HI 2)HF FifE A I
1 8/3 EH FEE tha % 1)L KA b3 :28.03
2 8/2 g 2 avkn apn )L RO ==]| 230 54
3 [8/1 =EH #FE b3% 435 B 1 :30. 81
4 8/4 EH ER Y8 IF INA T E R =2 :31.58
5 7/3 O -F 4 F =2 BEER =1 :33.19
6 18/5 HiE A Y14 7Yt X UEEC 2 :33.36
7 1/2 Nk =I5 hby sbd 1)L XKO 1 :33. 37
8 4/1 £HF R htE 17 AR ek o 2 :33.97
9 |7/4 |HRER ZEFE nyby #E Edb=KikER | S :34. 32
10 _|5/2 INEFFEE 14T 9ht BitEkikE | 52 :34. 75
11 |7/1 NI #Eh0 87 48 I87—X 2 :35. 15
12 _15/3 WE B ¥/ 1'% AEER =2 :35. 23
13| 6/6 e =4 ¥3+h 3/ ING EE = 1R =1 :35.24
14 |5/4 E=E #H i 19 AESRK =2 :35. 31
15 13/2 120 £ 794h 39 &g 2 :36. 75
16 [6/1 REZEFE 4479 Jyh FUEEC 1 :36. 16
17 _16/3 BE (ZC {n3 =1 ) B :36. 28
18 |5/1 ARER HZE nyby 3ot INE S =1 :36. 40
19 14/3 FH) il 487 ¥ ay S =2k :36. 81
20 |3/3 ik wE avk'y av EdLEKikER | &2 :37.18
21 _16/2 EiIg B8 E3vh 234 RIWEREC fi2 :37.35
22 [5/5 L BAK 38 M INSUE AR i :37. 68
23 | 7/6 FE —#F hadh 413h —=E B :38. 68
24 | 6/5 WAt FHE Y3431 X EFEC 2 :39.22
25 |1/4 =EKREE 197 IUt AXAdh 413 :39. 45
26 [5/6 B a1h #93 FAE S =2 :39. 49
27 |4/5 EE = 1997 9ht BEOEE i1 :39. 56
28 |3/1 BiE B a0y Fuva bl =z :39. 87
29 [1/6 HLEEFFF EE'/ Y3 AR 2 :39.93
30 |2/1 miE & by 7o INEEE R =1 :40. 31
31 | 4/4 IEHEHLT Y14 £2h BEREE th2 | :40.38
32 [3/5 KEHDE t4vv 9% A& FEC 1 :41.03
33 13/4 AAADY 1443/ BE RS =2} 41. 41
34 [2/2 |XKH =FEZEZ t455 Lt XIL&FEC 2N :41.76
35 |2/6 K BZFE A4E7 WY [=balksdan =20 :41. 98
36 [ 1/1 AR fhum Vi L XOcd mh2 :46. 59
37 [2/5 Al BRF 4987 WY HENE =20 :46. 89
38 |2/4 EHREHE YR IA'E BEERER ==h :47.92
39 [1/2 |FEIT B kDI 74+ SEch¥ik  [gi3| 155 88
40 |1/5 W FRYT M 3T BERS R =g
40 | 4/2 EE . Ak Y3 BEER2IR ==} ZiE
40 |1/3 ER #% tt'% #7% T 40 %F hi| i
40 [1/5 WO R YIF AN NG R =1 EiE
40 |3/6 =M FEF Ahth 3t XOdh h3| FEiE
40 |8/6 HiE i 19Ny F4% EE A ZiE
40 |4/6 | jNEE Ty hbty Fh/ 3 o =g ho | =EiE
40 |2/3 o HwE Y39°F 794 BRI =l FEiE
40 |6/4 | BB HE aHnY a9 = =1 ZFEiE




F1

H{+2025/03/23

109. BF rh- 58 5H0m BAE LRE BRERNORI S %2y
NO [#i/3 C A1 2HF FE 2 A L
1 16/1 | XiE RS Erv KEEVE: Bk A BB =3 :26.18
2 |16/6 |EEXR w3l $4% h4b Bk A BR =3 :26.21
3 |18/2 | Bl HX JHE 104 —E5 =00 :26. 40
4 |18/3 | Baff {2BH 194L7 Yavi Pe N 3|  :26.84
5 [16/4 M@ .87 #0458 a9 X7 =1 :26. 86
6 [18/4 | & ng anE — =5 B2 :27.02
7 118/1 |iEH#H FH Vx4 ) MM EEER |52 :21.20
8 17/1 | [MEH £ v, VA EER 52 12741
9 |i1/2 |MEl #3 thyz a9k TSR =1 :27.53
10 14/3 Wkt ERE ¥YA7 Y% Bk A BR 22K} :27.66
11 |10/3 | dkiF HE 441 a9% colsEKF =2k} 121,72
12 |18/6 |28 RE3l 2947 )4k *IIEEC 2| :27.94
13 |18/5 |HH EA 3v4" h4b o)L kO =z :27.97
14 [17/3 | BiME—ER Y18 Y4F079 FAEEK 2| :28.50
15 |15/4 | /B &iE ks ks HE A BR 51 :28.72
16 _110/4 |3TH B 24 b cclzXF 3 :28. 87
17 [17/5 |#88 —M YE RN BEREFER F12 :29.09
18 [15/6 | EHEIKER A4 Y9409 PANETSL =2 :29.25
19 |14/5 | #§K BEsl Y E DV INEET B AR =i :29. 31
20 19/3 JIJURT  EE 4 h7%% Yaot4 IIE SR =2 :29.42
21 _[15/2 | JhnfE EEER hbn vHFh —E5 52 :29. 44
22 |14/1 (B EH ThYv Y3mk HE R =2 :29. 81
23 |14/4 |FH EX ty48 3tn TE SR B2 :29. 91
24 |15/5 | JItE 3t 1979 +#b INEEER | 51 :29. 94
25 |14/2 | #2328 KXHR 7547 409 INSEER (B2 129 95
25 |15/1 | 8AiBE—EH 423 Y94F07 HEEDR == :29.95
27 |12/3 |ILE EEE vt Yauh xOrh B3| :30.03
28 |16/5 |&=H#E —m% TUbY 44% NI R B =1 :30.12
29 [16/2 |¥FH KIE $h4 44T INEER 2| :30.16
30 [17/6 | KB Bt 147 a9% RS =i :30.23
31 [17/4 | ¥5fR 30 1D Fovy FAESX B2 :30. 25
32 |14/3 | BB F% 4h493 FEn ANEITSL N B2 :30.53
33 [17/2 |/NB ThK 1YY 394 BEREE i3 :30. 62
34 |10/5 | H{HiE EET 1'% Ut &% =2 :30. 74
35 [6/5 =@ Xt 97 k0% s ot < g 3 :31.06
36 [8/6 = B 1F A ER &h/ Y3m407 R =2k :31.44
37 113/4 | FX JLThT4 KILWEFEC =2p) :31.63
38 |12/2 | FE K= 14’0 19% KINEFEC g2 :31. 87
39 |10/2 | EREIKXER A3 rvhon =M f2 :31. 94
40 |10/6 |E% &K ¥/ 394 INI—X 2 :31.97
41 _19/4 L Hx DAYY Y FAEER 1 :32.03
42 19/2 | H{E WK PR T4 XOch 3| :32 14
43 |10/1 | B &®FE 1Y Yri¥ =M f2 282,25
43 [13/6 |H0%E EIF i b4k FAES =1 :32.25
45 |13/1 |FHk &A Iv+h a9k FAESK B2 :32.28
46 [13/3 H = wiva T EHS 2 132,37
47 [11/3 | &8 Eif hARzL Uy XIUEFEC F2 | :32 53
48 |2/2 & F g0 i) Gk da ks ot o 2 :32. 68
49 |6/4 i == 1| ¥ 437 XOc =2k :32.79
50 [11/6 | 3TH f@IE 28 Fua 24J)L X0 =2h| :32.98




IR B {42025/03/23  Page 2

109. BF b=z -3, 550m BHF (LR FENORI S T
NO | #8/3 £ Hl U3+ FiiE 2 A L
51 _|5/4 i Rl A%'M3 oy S th s 2 :32.99
52 [12/1 | 78F9 17§ —Vvhh 9339 IR)—=X =zl :33.03
53 |11/5 | IEA &5 Yk 9F 19% EER =2 :33.05
54 |5/6 X R¥E EE M EVAY| e s, g th3 :33. 09
55 17/3 BEX ZEH ant 7ux Pk 52 :33.32
56 19/6 FAKCLVE WITh a4% 87— =2} :33.50
57 |11/4 |#8H FE{Z 294" 14y [EhlEsdas 2 :33.53
58 [12/6 |fngE fEA hb7 Ak RIUEFEC 2|  :33.59
59 |7/2 B AER FTH/ JoAaar AFFIT 3 :33. 64
60 |12/5 |4EE Bf4H VISR DY) ). 2 :33.76
61 |13/2 |BH#A #HE 3y 497 MNMIEER | &l :33.78
62 |14/6 |&3 BEE THF Yz BEEK =2 :33.94
63 [8/3 [/hJI] EBA 159 v4b FAEEK = :34. 06
64 | 6/6 i K& “YhT 8y AOd 3 3411
65 | 6/2 Al —pg 1YY {yt4 EE =1 :34.23
66 |2/5 FZH1E EYIRE CiTE A 2 :34. 35
67 |4/6 M+ 8K DILS hyé A0Odh 12 :34. 88
68 |8/4 Jﬁ(;}ﬁ R Tht £Ya7g A0 3 a0 18
69 |7/6 % == Ny 743 RS =1 :35. 16
70 |9/1 A ZAIEAE hika 9% R ==} :35. 41
71| 8/1 JnEE FEX I REDE. EE R =1 :35.53
72 15/3 ST NN EES Y394 EER =1 :35. 62
73 _[5/1 W ZEs] r¥ay 74b RS =1 :35. 75
74 |5/2 1hiE =E Hb9 hThS Eh s b2 :35.85
75 12/3 WHE 8% Y97 Nk A0 =2h| :36. 00
76 _|5/5 {£ 182 XEH #ny 1400 R 1 :36. 44
77 _14/5 FE K85 /A nILR mENF 12 :36. 52
78 |3/4 il A == #] I FAb e sl 5 =2h| :37. 32
79 |4/4 {FiE BAX 1b 744 =MHAH 2 137, 33
80 [6/3 BB T3=% anyan XUIEEC 12 :37. 40
81 |7/4 S —F AR LS HXFE | AFF3T =zB| :37.56
82 |19/5 INE BEX aY'¥ a94 EERER F3 :38. 48
83 | 3/1 )1 RS BA 217 h4409 KO =2 :38.63
84 |4/1 ZEL2 XK El VVE IV, H 1 =2h| :38. 68
85 |7/1 TN L I A1) 79 a9t4 A UEEC 1 :38.97
86 [1/4 K nYy 4444 X0 2 :39. 28
87 13/3 ok &iE hby anvy X0 1 :39. 40
88 |3/5 =N E2E=s VI VEVEVE G A ale 2t =28 :39. 69
89 [3/2 fintE hEE 711y 493 BEERER =2h| :39.70
90 [7/5 Mgl ThEs nbhk AIUEEC 2 :40. 17
91 [1/5 W) E 38 YYhTravk L8 =g 2 :40. 69
92 | 4/2 P EA B AF b XA FEC 2 :40. 80
93 |1/ fH BE Fan Yoy A0 =2l 41, 31
94 |3/6 A ER Ax445 S avk B =1 41.72
95 |2/4 i e 0 N 2 ARE Txb mENF =2p] 149 66
96 | 1/2 A& HEB ¥v4=%7 AEEC F2 :53. 31
97 11/3 EE 1L /5 Nk N =R H1 :54.19
98 [16/3 |EAK K= CYIE SN R EEC 1| EiE
98 | 6/1 X 822 A144 b2t IE SR 52| i
98 |8/2 g ik Thye Yan4 TSR 52| EHE




FRIE £+2025/03/23  Page 3
109. BF b=z -5 5S50m BHW HMLRE BRENORI S
NO | $8/0 2 Hl 2+ FiE AL
98 [8/5 |EXR HRF NYER 3vER TSR =1 ZEE
98 [13/5 |dhyl| B Th¥v I{R4 FAEE E2| EiE
98 | 11/1 | #i%} fres 93/ EA4 EER =1 EiE
98 |12/4 || E&s| NG Yavh EBiEKKE | E2 o
98 |15/3 | XKt A FEb Va4 kA ER =2 | ZEE
98 |2/1 e R4 4h)Y R h e 2| ZEiE




ENRI B {12025/03/23

110. %&F hF - 5% 50m FikE LR FRENORI S ¥y
NO | #f/3 g2t 2VUH+ FiiE A L
1 [3/4 |®E he 7¥3v #93 4L KO F3| :33.94
2 13/3 IMNE BE e AT 4L KO th3|  :36.91
3 3/5 INE IS F ¥y 1313 4L X0 B :37. 11
4 3/2 WM B 94 139 BdvEKkER | S :37.79
5 [3/1 E 73IR v 4L KO == :37. 94
6 |2/4 |HMH =i A8 ik PN 2| :39.56
7_12/5 | Bl Eh BNy 34 AIUAEFEC h1 | :40.00
8 12/2 i 2W4{F +% )L RK0 =2} 41,47
9 |2/1 AR = h743 13 BEE R b3 |  :50 44
10 |1/3 KR HBE IAY Y74 ebslfEids =2} :51.28
11 |1/5 £ IBF Ny 7Y/ AN EF =z} :54. 11
12 |1/4 | Xt &= 11457 Lt K& EC ==§ :54.77
13 [1/2 |kE #EnE THY a4 BERER hi| =i
13 |1/ WO #\E YI7'F 7948 SR =i EiE
13 12/3 B 4R b9 a4y e k2| EiE




